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KS3 Maths 1.2 Collins Connect

11 Percentages: Progress and review

Here are five numbers.
2 3
0.65 69% 0.8 5 3

a Write down the largest number. b Write down the smallest number.

Work out these quantities.

a 2 0f 60 cm b 3 of 60 cm ¢ 4 0f60cm d 2 of 60 cm

There are 600 people in a concert hall. % of them are teenagers. % of the teenagers are
girls. How many teenage girls are there in the concert hall?

Work out these quantities.

a 60% of 750 kg b 15% of 40 cm c© 30% of 1.5 litres d 99% of £17.00

Work out these percentages of 7.5 kg.

a 12% b 72% c 92% d 2%
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KS3 Maths 1.2 Collins Connect

11 Percentages: Progress and review

Arthur is given £417.
He decides to donate 20% to charity.

a How much does he donate? b How much does he have left?

Max pays a bill of £726 with a credit card.
There is a charge of 2% for doing this.
a What is the charge, in pounds?

b What is the total amount he has to pay?
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